
12

3

4

5

6
8

13

9

12

10

11

14

16
15

17
18

19

24

25

26

21

22

27

23

28

30

34

35

37

38

42

32

28

43

44

45

46

4849

41

57 56 55 54 53 5152 5059

39

40

58 47

20

29

33

36

31

61 62 50 63 64 65 66

7

60

68

67

69

70

72

73

74

75

71

76

47

safe t vac Exploded Drawing
  Version: A
2024-06-13

77

78

79



Version: A

Date: 13-06-2024

Page2/2

No. Part No. Description QTY. Material Color No. Part No. Description QTY. Material Color

1 55.0497.0/1 HANDLE FOR TOP LID SST SAFETVAC 1 Stainless-steel-SUS304
Brushed Wire

stainless steel
40 55.1115.0 SILICON RUBBER SEALING PART 1 Silicon rubber White

2 121.0035.0 SILICON RUBBER RING 11.5X6.5X1.5MM 2 Silicon rubber Raw color 41 55.1091.0 BOTTOM COVER WITH PLATING NI 1 ABS Nicke plating

3 55.0501.0/1A TOP COVER STAINLESS STEEL 1 Stainless-steel-SUS304
Brushed Wire

stainless steel
42 00.0121.2 SCREW M4X12 CROSSHEAD MACHINE STAINLESS 2 Stainless-steel-SUS304 Raw color

4 00.0091.0 WASHER STAINLESS M5 5.1X12X1.0 2 Stainless-steel-SUS304 Raw color 43 55.1097.701 AIROUT FILTER U15 1 ABS, U15 Glassfibre Blue

5 115.0302.0 HEX SOCKET BOLT M5x8 GB/T 70.1-2006 STAINLESS STEEL 2 Stainless-steel-SUS304 Raw color 44 55.1102.0 EVA FOMA SEALING FOR AIROUT FILTER 1 EVA FOMA Black

6 55.0453.0 FILTER CAP COMPLETE 23/612 ISS2 1 non-woven fabric, rubber White, black 45 55.1096.0 AIR OUTLET AL COVER PLATE 1 Aluminium
anodizing, Raw

color

7 55.0487.2 WHITE CLOTH BAG 5 LAYERS FILTER 1 White Spunbond + White Meltblown White 46 55.1122.0 THUMB SCREW M4X10 STAINLESS STEEL 3 Stainless-steel-SUS304 Raw color

8 55.0455.0 LID CATCH MINI P7/781 ISS 1 4 Normal steel with Nicke plating Nicke plating 47 S.119.0123.7 97 I-POWER10.5, 14.4V10.5Ah,4S3P,Blue797 2 PC/ABS, Li-ion battery Blue

9 55.0456.0 AD 54 SB TUCKER RIVET (FINISH 448) 14 Aluminium, steel Raw color 48 106.1111.28 M4*12 FLAT HEAD SELF-TAPPING SCREW 6 Stainless-steel-SUS304 Raw color

10 31.0037.0 HOSE CONN SEAL 14/688 1 EVA foma Black 49 55.1119.357 EDGE COVER FOR BATTERY HOUSING 2 ABS Grey

11 31.0077.000 NLET PLAIN PP ESD 1 PP + ESD Black 50 55.1103.0 PCB BOARD SAFE T VAC 1 PCB board Green

12 72.0271.0 PLASTIC WASHER 9x4x1mm 16 Nylon white 51 113.0004.0 PAN HEAD SCREW M3X5 3 Stainless-steel-SUS304 Raw color

13 55.1118.0 SAFE-T-VAC STICKER FOR TANK 2 Stainless-steel-SUS304 Raw color 52 55.1095.0 COVER PLATE BOTTOM FOR MAIN PCB 1 Aluminium
anodizing, Raw

color

14 55.0454.0 8MM X 16 POLYPLAST HEX HD SCREW 3 Normal steel with zinc plating Zinc plating 53 106.1111.22 M3X8 FLAT HEAD MACHINING SCREW 3 Stainless-steel-SUS304 Raw color

15 55.0496.0 FOAM RING 1 EVA foma Black 54 55.1105.000 34MM SWIVEL WHEEL ESD RUBBER 4
Normal steel, stainless steel, ESD

Rubber
Black

16 54.0032.0 WASHER M8 [22 x 8.5 x 2.0] 3 Stainless-steel-SUS304 Raw color 55 55.1123.0 MATEL SERIAL NUMBER PLATE IN LASER PRINTING 1 Aluminium Raw color

17 55.1099.701 AIRIN FILTER U15 1 PP, U15 Glassfibre Blue 56 120.0657.0 SCREW, M8x16, HEX HEAD,SS 3 Stainless-steel-SUS304 Raw color

18 55.1098.0 EVA FOMA SEALING FOR AIRIN FILTER 1 EVA foma Black 57 106.1111.24 M4*12 PAN HEAD SELF-TAPPING SCREW 6 Stainless-steel-SUS304 Raw color

19 121.0098.0 SCREW M4X16 CROSS FLAT HEAD MACHING THREAD SST 3 Stainless-steel-SUS304 Raw color 58 55.1117.0 SILICON RUBBER SEALING-3 1 SILICON RUBBER White

20 55.1191.357 MOTOR HOUSING COVER 1 Radich PP66+15%GF Grey 59 72.0121.1 SCREW M4X12, CROSS HEAD, STANDARD THREAD, SST 2 Stainless-steel-SUS304 Raw color

21 72.0359.0 SCREW M4X6 FOR PCB BOARD 4 Stainless-steel-SUS304 Raw color 60 55.0463.0 SOL TK PAD 18/686 ISS 1 D/F TK 4 EVA FOMA Black

22 55.1092.357 MOTOR HOUSING 1 Radich PP66+15%GF Grey 61 55.0506.0 SWITCH ADAPTOR 23/661 LSS3 1 Nylon white

23 55.1116.0 SILICON RUBBER FOR MOTOR OUTLET 1 Silicon rubber Black 62 55.0504.0 MAIN SWITCH 1 Nylon, copper Grey

24 55.1093.0 MOTOR TOP RUBBER 1 Silicon rubber White 63 55.1108.0 BETTERY SUPPLY WIRES, 14AWG 1 Silicon rubber, copper wires Red, Black, Blue

25 119.0140.0 BRUSHLESS MOTOR DC28V 300W H/L RCM-G86 1 Steel, Copper, Wires, PA66 Black 64 55.1109.0 MOTOR WIRE, Black, 14AWG 1 Silicon rubber, copper wires Black

26 55.1104.0 SPONGE FOR MOTOR OUTSIDE 1
Fireproof and sound-absorbing

sponge
Black 65 55.1110.0 MOTOR WIRE, Red,  14AWG 1 Silicon rubber, copper wires Red

27 55.1101.0 SPONGE FOR MOTOR HOUSING 1
Fireproof and sound-absorbing

sponge
Black 66 55.1111.0 RED/BLACK WIRE FOR SWITCH TO Main PCB 24AWG 1 PVC, copper wires, Red/Black

28 55.1094.0 MOTOR BOTTOM RUBBER 1 Silicon rubber White 67 02.0029.74/000 BEND END 32MM LONG VERSION ESD 1 PP+ESD, Stainless steel Black

29 106.1111.9 M4X8 FLAT HEAD MACHINING SCREW 2 Stainless-steel-SUS304 Raw color 68 55.0517.000 HOSE BLACK 32MM 2.5M ESD 1 Anti static EVA plastic Black

30 S.119.0037.3 57 BATTERY INSERT CONNECTOR ASSM 2 PA66+25GF%, Copper Grey 69 31.0088.000 LOCKING RING SCREW PP+ESD 1 PP+ESD Black

31 119.0068.0 RUBBER BLOCK FOR MOTOR HOSUING WIRES 1 Silicon rubber Black 70 31.0086.000 HOSE END CONN 35MM PP+ESD 1 PP+ESD Black

32 55.1113.357 BATTERY INSTALL COVER 1 ABS Grey 71 22.0034.41 WAND 32X530MM STAINLESS RING INSIDE 2 Stainless-steel-SUS304 Raw color

33 55.1090.0 BOTTOM BASE ALUMINIUM DIE CASTING 1 ALUMINIUM: ADC12 Nicke plating 72 S.02.0031.6/1 UPHOLSTERY TOOL 32MM W/O BRISTLE ESD WITH PRINT 1 PP+ESD Black

34 55.0471.000 FOOT PEDAL PP+ESD 1 PP+ESD Black 73 S.02.0040.6 PLUMEAU ROUND 32MM ESD WITH HAIR 1 PP+ESD Black

35 106.1111.6 M4X8 PWA HEAD SELF-STAPPING BLACK 1 Stainless-steel-SUS304 Black 74 S.02.0032.6 CREVICE TOOL 32MM ESD WITH PRINT 1 PP+ESD Black

36 72.0209.0B SEALING GASKET EVA 3X1.5X593MM 1 EVA foma Grey 75 22.9045.610_32 FLOOR TOOL ERGO OPS 32MM 1 PP, Rubber Black

37 55.0502.0/1A SUPPORT COVER STAINLESS STEEL 1 Stainless-steel-SUS304
Brushed Wire

stainless steel
76 S.119.0100.0 I-CHARGER 5A-4X FOR BATTERY I-POWER8.7/10.5 1

PC/ABS, PP, PCB Board, Cable,

copper wires
White/Grey

38 55.1100.0 MOTOR BASE EVA FOMA 1 EVA foma Black 77 55.0144.0 SCREW S/TAP KB50X10 (71025) 4 Stainless-steel-SUS304 Raw color

39 55.1114.0 SILICON RUBBER SEALING PART 1 Silicon rubber White 78 55.0480.0/1 CONTAINER STAINLESS STEEL 1 Stainless-steel-SUS316
Brushed Wire

stainless steel

79 24.0014.4 SCREW M4X20 , PAN HEAD, CROSS, STAINLESS 1 Stainless-steel Raw color

Safe T Vac Spare Parts List 


	页 1

